Untitled.notebook October 23, 2017

p-26 ®H 10

P81 * 1,02

7. C(t)=1.5¢ 4 | T ) =1t+24
“) @ = AR ( 1 :
TE) -&+20 /20 |
o' Ye-ls T - - o=yz-LS
VR, X=20 :f
.



Untitled.notebook October 23, 2017

F.')B

¥22.  L(x)= > (0,25)  (20,13)
% —h

1C()<);- dl'}so(V\‘h'oq Hhme (M.',\)

Y= ‘LQIM_P (o(_)
0""\ 'Za__‘/\
“Sh o 13 (26 -L) = o

—\1\’\—_ 2(00
\ﬂ: ~249
o
\’.\: - 65 &= -25 Ls
3
2
- \Eﬁ_k"
g >
_ 3 b2 S
"C(X\ = ' ~ 5 ~ \((‘L‘g
S



Untitled.notebook

b ) £n=5
¢ . \bas
I bS5

5 (27«-\ Lg) - \b2y3
1S¥ 4 22S — \L2<

\Svw = Roo

R

October 23, 2017



Untitled.notebook October 23, 2017

by2) fea<lo

lo — b2 s

3¢+ 65
lo(3x4t5)= 625
3Uﬁ-+ tyb=l(C1s

Sox= G1s

X= 975 37

—_— -

3D

J- vo‘-%c 3‘%}’32‘5 [ JBz_g(bo[

"'(—\oe’) ,{_‘(D): L’K _F(‘m)_ ‘LZS‘
= lL'LS' ts 304 LS
— =2
’300 6 =< ¥ -
ThS 4y

=y Vv

Tf"\p wuwet e 3r€w\'€r Hran 32.57



	Page 1
	Page 2
	Page 3
	Page 4

